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1. Answer the following as directed (any ten) :
1x10=10
TS fRIEIRA fot P Sea fmt (R i wedt) -

(a) The property of a proposition is truth/
validity.

( Choose the correct answer )
I B (R A} [/ A |
(@ TeI! MR Sfee )
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(b)

(c)

(d)

(e)

(f)

(g)
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“Logic is concerned primarily with
argument forms and secondarily with

argument.” Is this statement true?

“oFfEE AEtE Ied SieRe oe i
CNTSIR Ifeq BT wies |7 @2 SRetst o 2

Which term is distributed in an ‘O’
proposition?

‘O’ IS PIFHI M S =79

What is the symbolic form of universal
affirmative proposition?

SR AL o1 AP SR 59

Can an ‘A’ proposition be converted
simply?

‘A’ 6 e IS I AREH 2

Which two terms are present in the minor

premise of a syllogism?

aﬁmwmwﬁﬂfé@wiﬁw
N SEY 91|

Which type of opposition is there between

‘E” and ‘T propositions according to
Aristotelian logic?

(h)

(i)

(]

(k)

An immediate inference has one/two/
three premises.

( Choose the correct answer )

I SS9t / !/ fRGE SE a5
UiTF |

(Wm TeIo! ik ket )

Syllogism is an immediate inference/
mediate inference.

( Choose the correct answer )
T GO S / T g |
(W= SeIw! AR Sfet )

The predicate of the conclusion of a
syllogism is called ___ .

( Fill in the blank )

ol e et Rew ome 3t oy
= |

(=T 3R 77 4 )

“In an inductive inference, the conclusion
cannot be more general than the
premises.” Is the statement true?

G ST AT Pt RGO
@R [ T7 @RE T @3 SR A 2
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1)

(m)

(n)

(o)

(p)
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( 4)

Is the syllogism valid, when both the
premises are negative?

@fon! @Bl TR TR Sty o7 S 2,
Cofoal PR 7Y =2

Name the figure in which DARII is a valid
mood.

DARI R %39 &4 376, @13 semmm =19
ot 1

State the position of the middle term in
the Fourth figure of a syllogism.

T 59 FAFT @Y AT ! S <4 |

The First figure of syllogism is also called
as figure.

( Fill in the blank )

TS AT ! ’E e el
27 |

(4T 512 ool 1 )

How many circles are to be drawn to test
the validity of a syllogism through Venn
diagram?

mmm@mwhwﬁﬁw
@ﬁﬁi@wﬁmaﬁﬁamﬂ?

( Continued )

(q)

(r)

(5 )

What is the symbol used for ‘belongs to’
in set theory?

e oo ‘wHEE Jumal Al 59

Symbolize the given proposition by means
of set notation :

No Americans are philosophers.

RS 0 T2 o e A8
4

I S 72y v |

2. Answer the following questions (any five) :

2x5=10

TS il ersprrzg Bed fort (R it =fob)

(a)

(b)

(c)

A23/454

What is formal truth?
SIPRAS Tyt Jfere & w12

State two differences between deduction
and induction.
ST S fFaeE Jies 2361 751 “Atefy fist |

What are the two important conditions of
a valid argument?

4 9 7Bt g 5% s 5o
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(6 ) |

3. Answer the following questions (any four) :
(d) Give an example of a valid argument ; 5x4=20
having true premises and a false conclu- w57 fi PP a9 il (R GPIceT i) -
iom.
7 (a) Distinguish between deductive and induc-
9] SR I AE WYy Praig 4@ GBl @ Rl
Ifeq S | 5 :
' | o Ife wie ST e Tws 6
(e) Define particular affirmative proposition | Ay T |
with the help of an example. | (b) How many figures are there in a syllogism?
! BRI RIS v Twet oy et B | | Ilustrate the figures of a syllogism in linear
form. 1+4=5
(f)  What is meant by ‘mood’ of a syllogism? ‘ R RE51 & : :
T IS Ifereat fo o RG] e 1|
(g) Write the names of four valid moods of ‘ (c)

What is simplification of propositions?

First figure of syllogism. Simplify the following sentences into

logical form (any three) : 2+3=5
Wﬁwaawsﬁmmtﬁmmﬁw |
i W/ AR I w9 ke k-
(h) Give example : Fallacy of undistributed @ ST GORE AR 4l R =en
middle. fofwb) :
TRigge frt L OIS @ o oo | | (i) All good authors are not good
: speakers.
(i) State any two ryjes of syllogism. AT Ol EINE O I 75y |
T R i forrsy = | (ii) Only the intelligent persons can pass
p
the examination.
) St ; i '
G sc‘t‘;@ WO methods of representation Of @ s IR @2 A4S SE)d
: 29 A |
H%ﬂ%mmﬁﬁmm?@w%w’i@“ |
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(ifi) Most of the students are honest.

Rfegers wa3 e |

(iv) Wise persons are always revered.

N e g sifere |

(d) What is the middle term? What is the role

of the middle term ip 5 syllogism? 2+3=5

RR A 52 Bt iz ot ot 62

(e) What do you mean by opposition of
PIOposition?
TR RiRer Iferer fe &2

(f)

State the specjal rules of the Third figure
of a syllogism,

TR PO KR Rem g S 91

(g) Distinguish between
mediate inference,

Eﬁ”“wmﬂﬁwwmmﬁ@

immediate and

(h) :
State the SPecial rules of the Fourth figure.

E@IHWWWWWI

(9]

4. Answer the following questions (any four) :
10x4=40
TS firl e ©d fort (R cpieent wifst)

(a) What is an argument? Explain the relation
between argument and argument form.

e 9w 7 o ww [oq R =
T gl 91|

(b) Write an essay on the relation between
truth and validity.

ATl AT (40T 69 Ry Q3 9591 Brat |

(c) What is a syllogism? Briefly explain the
fallacies of syllogism.

TR A 52 TR PR 530 9T 41 |

(d) What is conversion? Define conversion by
negation. State the rules of conversion,
2+2+6=10
TR A 59 Fegere sadam e |
RGN TR Sy |
(e) Explain the square of opposition with the
help of diagram. '

Wwwﬁmﬁ@maﬁmww:

(f)  Dlustrate AEIO propositions with the help
of Venn diagram.

(o oI SRS AEIO T5-7. epodfsy <o |
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(g)

( 10 )

What i
me:; dlS venn diagram? Explain the
0d of testing the validity of an

areum .
g ‘ent by using the Venn diagrammatic
technique.

(i)

()

What is set? Explain with examples how
the traditional AEIO propositions are
symbolized with the help of set notations.

el Wi 67 Ag=edis AEIO /AT A2
FORFIT I,

gy RS

S
P 1% @19 (o By rfs awel I Srzaer I F4

T3 ol it 1 et st 41

() What is operation of sets in set theory?
Explain various operations of sets.

srafoegs Fared e A 67 IRfeeed

(h) p
fove the validity of the following

Nfs using the Venn diagrammatic

technij ’
m;;ue ' 5+5-10 Afon sifert 1 41
o
o q@T IR e giea @
* K K

(i) :
ﬁ mathematicians are wise.
Al ph%losophers are mathematicians.
Philosophers are wise.

wﬂﬁwiﬂ@ﬁ
: |
._WW@"'@W[

(ii)

All i IS
S()me i

' Som
€ Soc
ocial reformers are not Indians:

;ﬁwﬂ e |
5 Creefie e sre-s1ewae |
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